1. Using the data below, plot the light intensity and the ln of the light intensity vs. depth on both days. Why do the lines for ln (light intensity) and light intensity differ in shape?

What is the light extinction coefficient on both days?______________ 

What could account for the different intensity on June 19 and 20?

What may have happened at 10 m?

	
	June 19
	June 19
	June 20
	June 20

	Depth (m)
	Light Intensity (μE/m2 sec)
	Ln (light intensity)
	Light Intensity (μE/m2 sec)
	Ln (light intensity)

	0
	1925
	6.309
	550
	7.562

	1
	1575
	6.109
	450
	7.362

	2
	1295
	5.913
	370
	7.166

	3
	1050
	5.703
	300
	6.956

	4
	857.5
	5.501
	245
	6.754

	5
	700
	5.298
	200
	6.551

	6
	577.5
	5.105
	165
	6.358

	7
	472.5
	4.905
	135
	6.158

	8
	385
	4.700
	110
	5.953

	9
	315
	4.499
	90
	5.752

	10
	140
	3.688
	40
	4.941


2. It took 16 ml of 0.02 N H2SO4 to titrate a 50 ml sample to pH 4.2. 

a. What is the alkalinity (acid neutralizing capacity or ANC) of the sample? 

b. What would the alkalinity be after you do the titration?

c. Most abundant species of inorganic carbon after the titration?
